Low Profile Slide Table

MXF Series

How to Order

MXF [12|-|50|-M9BW|| |-| |

lMade to Order
Refer to page 269 for details.

Bore size/ Number of

Stroke (mm) auto switches
28 10, 20, 30 '2' 21"‘?
212 20, 30, 50 - PC-S
016 30, 50, 75 n pes.
220 | 30, 50,75, 100 .

Auto switch
Nil \ Without auto switch (Built-in magnet) \

# For the applicable auto switch model, refer to the table below.

How to Order Stroke Adjusting Bolt (Accessory)

MXF-A[16|27 - X1

Applicable .
. A tment ran
bore size d.]us ent range
Nil 5mm Standard
8 8 X11_| 15mm
12 012 x12 | 25mm | OP""
16 016
20 020

# -X12 (adjustable range 25 mm) is not available in the MXF8/MXF12 series.

Applicable Auto Switches/Refer to pages 1119 to 1245 for the detailed specifications of auto switches.

= o Load voltage Auto switch model Lead wire length (m) . Y ———
: . Electrical | 5 iring re-wire pplicable
Type| Special function s o 5(1(3]|5
entry £ (Output) DC AC Perpendicular In-line iy || 0 |@ connector load

e 3-wire (NPN) MONV M9N ® 6 e O O

£ — 3-wire (PNP) svizv M9PV MP | @ @lelo| o |°oo

? 2-wire 12v M9BV M9B ® e o O ®) —

) -

= .. o 3-wire (NPN) MONWV | MONW | @ (@ | @ O O

3

& | Diagnosticindication | & oot | ves [3-wire (PNP) | 24V svav M9PWV MOPW | @ @ @® O o Celreuit | Relay,

[ (2-color indicator) " PLC

s 2-wire 12V M9BWV | MOBW | @ @ @ O o —

o 3-wire (NPN) M9NAV*! | MONA*! | O O | @ | O @)

o i 5V,12V v : IC it

2 | (2color mtoston 3-wire (PNP) ’ M9OPAV*' | MOPA* | O [O @[O0 O ored

@ 2-wire 12v M9BAV*! | M9BA*! | O [O | @O ©) —

= 3-wire
g__‘é crommet | Ye¢ (Equiv. o NPN) | 5V — A96V A96 o —| 0 — — IC circuit|  —
g9 e oav | qov | 100V | Ag3V< A3 (@ [@e|e|®]| — — | Relay,

B None 100V orless|  A9OV A90 o — 0 — — IC circuit| PLC

«1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
*2 1 m type lead wire is only applicable to D-A93.
* Lead wire length symbols: 0.5 m - - Nil (Example) MONW = Solid state auto switches marked with “ ” are produced upon receipt of order.

M (Example) MONWM

L (Example) MONWL

- Z (Example) MONWZ

* Since there are other applicable auto switches than listed, refer to page 277 for details.
* For details about auto switches with pre-wired connector, refer to pages 1192 and 1193.
= Auto switches are shipped together (not assembled).

268




Symbol
Rubber bumper

Made to Order: Individual Specifications
(For details, refer to pages 278 and 279.)

Symbol Specifications

-X7 | PTFE grease

-X9 Grease for food processing machines
=X11 | Adjusting bolt, long specification (Adjustment range: 15 mm)
-X33 | Without built-in auto switch magnet
-X39 | Fluororubber seal
-X42 | Anti-corrosive specifications for guide unit
-X45 | EPDM seal

Moisture e

Control Tube
IDK Series -

When operating an actuator with a small diam-
eter and a short stroke at a high frequency, the
dew condensation (water droplet) may occur
inside the piping depending on the conditions.
Simply connecting the moisture control tube to
the actuator will prevent dew condensation
from occurring. For details, refer to the IDK se-
ries in the Best Pneumatics No. 6.

Low Profile slide Table IMIXF Series

Specifications

Bore size (mm) 8 12 16 20
Piping port size M3x0.5 M5 x 0.8
Fluid Air
Action Double acting

Operating pressure

0.15t0 0.7 MPa

Proof pressure

1.05 MPa

Ambient and fluid temperature

-10t0 60°C

Operating speed range
(Average operating speed) "°t®

50 to 500 mm/s

Cushion

Rubber bumper on both sides

Lubrication

Non-lube

Auto switch (Option)

Reed auto switch
Solid state auto switch (2-wire, 3-wire)
2-color indicator solid state auto switch (2-wire, 3-wire)

= ===
xX || = || X || X
o ||l || =

Stroke length tolerance +Imm
Stroke adjustment range Extension end 5 mm/Retraction end 5 mm MXW
Note) Average operating speed: Speed that the stroke is divided by a period of time from starting the MXJ
operation to reaching the end.
—n MXP
Theoretical Output our == [@ (N) NIXY
Bore size Rod size Operating | Piston area Operating pressure (MPa)
(mm) (mm) direction (mm2) 02|03 |04]05]|06]| 07| |MTS
3 4 ouT 50 10 15 20 25 30 35
IN 38 8 11 15 19 23 27
12 6 ouT 113 23 34 45 57 68 79
IN 85 17 26 34 43 51 60
16 8 ouT 201 40 60 80 | 101 | 121 141
IN 151 30 45 60 76 91 106
20 10 ouT 314 63 94 | 126 | 157 | 188 | 220
IN 236 47 71 94 | 118 | 142 | 165
Note) Theoretical output (N) = Pressure (MPa) x Piston area (mmz2)
Standard Stroke
Model Standard stroke (mm)
MXF8 10, 20, 30
MXF12 20, 30, 50
MXF16 30, 50,75
MXF20 30, 50, 75, 100
Weight (9)
Standard stroke (mm)
Model
10 20 30 50 75 100
MXF8 120 130 170 — — —
MXF12 — 210 250 360 — —
MXF16 — — 360 500 690 —
MXF20 — — 600 750 1060 1370
D-O
-Xtd


https://www.smcworld.com/webcatalog/en-jp/seriesList/?type=GUIDE&id=IDK-E

MXF series

Table Deflection (Reference Values)

Table displacement due to

pitch moment load

Table displacement when loads are applied to
the section marked with the arrow at the full
stroke.

= 1

Table displacement due to

yaw moment load

Table displacement when loads are applied to
the section marked with the arrow at the full
stroke.

S —

Table displacement due to
roll moment load

Table displacement of section A when loads are
applied to the section F with the slide table

retracted.
J—L

S el |

MXF8 Lr = 20 mm
0.08 0.04 ! 0.03
MXF8-30
€ T €
E MXF8-30 E E
E 0% g % E MXF8-10_ MXF8-20 MXF8-30
g g MXF8-20 g o
© © ©
5 5 5
0.04 0.02
£ P MXF8-20 £ £
8 8 8
g g | ~MXF8-10 3 oot
5 5 3
> 0.02 o 0.01 >
o = . 2 o
] / |1 MxFs-10 S / s
[ | | [ ©
7 ||
0 10 20 30 40 0 10 20 30 40 0 10 20 30
Load (N) Load (N) Load (N)
MXF1 2 Lr = 30 mm
0.10 MXF12-50 1 0.08 0.06
£ £ £
£ 0.08 = = . X X
= Z o006 i U = MXF12-20 MXF12-30 MXF12-50
3 3 ‘ 3 004
g 006 MXF12-30 _| | ] ‘ g
: : | z
M 1
g g oo ‘xnziau g
§ o004 MXF12-20 — E MXF12-20 -1 8
2 / Il % B o002
© / kel °
° o 0.02 °
§ ooz 2 Z H
= A = [
0 20 40 60 0 20 40 60 80 0 20 40 60
Load (N) Load (N) Load (N)

270



Low Profile Slide Table IMIXF Series

The graphs below show the table displacement when the static moment
load is applied to the table. The graphs do not show the loadable mass.
Refer to the Model Selection for the loadable mass.

Table displacement due to Table displacement due to Table displacement due to

pitch moment load yaw moment load roll moment load

Table displacement when loads are applied to  Table displacement when loads are applied to  Table displacement of section A when loads are
the section marked with the arrow at the full the section marked with the arrow at the full applied to the section F with the slide table
stroke. stroke. retracted.

|

le—
—>
[— 2
=
><
=

==

[0

=]
=
>
7]

MXF1 6 Lr = 40 mm u
0.20 ! 0.07 0.07 MXO
= ‘ E 006 E 006
£ £ o0s MXF16-75 £ oos MXF16-30 | MXF16-50 MXF16-75 |
g g | ]| | &
® 0.12 © ©
£ £ 004 VRETEED £ 004 MXW
: : \ :
] - s s
§ 008 M‘XFW 50 i 0.03 ‘ 8 0.03 MXJ
a o MXF16-30 o
3 L1 - - 3 002 = 2 oo
3 004 ~ 2 2 MXP
< / T & o001 & oot 7
Gl A MXY
0 20 40 60 8 100 0 20 40 60 80 100 0 20 40 60 8 100 120
Load (N) Load (N) Load (N) MTS
MXF20 Lr = 50 mm
0.10 —
028 [ ‘ ‘ 0.06
B MXF20-100 T MXF20-100 T
goa £ oo i i £
€ € € 0-100!
5020 é m ‘F‘G ‘75 - é o4 MXF20-30 MXF20-50 MXF20-75 MXF:
3 S 006 — 5
€ 0.1 3 =
z 016 g MXF20-50 _| | ]
£ MXF20- 75 £ | £
g o012 i S 004 % MXF20- 30 — g
a MXF20- 2 g 002
3 0.08 L werao 2 3 3
° | || mxF20-30 2 002 3
© 0.04 1 | o & 7,
=] ‘ 7
0 50 100 150 200 0 50 100 150 200 0 40 80 120 160 200 240
Load (N) Load (N) Load (N)




MXF series

Construction

T

A
\il\

9]
]

g

\:
e
H—
‘/F V ‘
s
[BARS

Component Parts Component Parts
No. Description Material Note No. Description Material Note
1 Body Aluminum alloy Hard anodized 16 Adjust bumper Polyurethane
2 Table Aluminum alloy Hard anodized 17 Piston seal NBR
3 End plate Aluminum alloy Hard anodized 18 Rod seal NBR
4 Rail Carbon tool steel Heat treated 19 O-ring NBR
5 Guide Carbon tool steel Heat treated
6 Rod Stainless steel .
7 Piston — With magnet Replacement Parts: Seal Kit
8 Seal support Brass Electroless nickel plated Bore size (mm) Kit no. Contents
9 Head cap Resin 8 MXF8-PS
10 Floating i Stainless steel 12 MXF12-PS T a
11 Orifice Brass Electroless nickel plated 16 MXF16-PS Set of nos. above [ 10 19
12 Roller stopper Stainless steel 20 MXF20-PS
13 | Cylindrical roller Highcaton chrumebearng sl + Seal kit includes (17, @8, (9. Order the seal kit, based on each bore size.
14 Roller spacer Resin
15 Rod bumper Polyurethane
Replacement Part: Grease Pack
Applied part Grease pack part no.
GR-5-010 (10g)
Guide GR-S-020 (20g)
GR-L-005 (59)
Cylinder GR-L-010 (10g)

Dimensions: Stroke Adjustment Bolt

c " ATERE Model raadn?‘gﬁri;?r}r:') A |B|C M
MXF8 MXF-A827 S 117 1 6|2 |maxo7
MXF-AB27-X11 15 | o7
1:6; MXF12 | MXF-A1227 5 1251 71 25 |Msx0s8
MXF-A1227X11_ |15 | 335
J:H H MXF-A1627 5 265
MXF16 | MXF-Af627X11 | 15 | 365 | 8 | 3 |Mex1
MXF-Al627X12_| 25 | 465
.B A MXF-A2027 5 30
MXF20 MXF-A2027-X11 15 40 12 4 M8 x 1
MXF-A2027-X12 25 50

272



Low Profile Slide Table IMIXF Series

Dimensions: MXF8

Stroke adjuster at retraction end

Stroke adjuster at extension end

Width across hexagon socket hole 2

N
1o (2-1xF

08H9 (3%) doptn 3 F (Equal pih)

[ i

Width across flats 6

Note)
N x M3 x 0.5 thread depth 6.5

Blanking plug (M-3P 2 points)

==
> || <
I

Possible to use as
operating port 2 x M3 x 0.5

© ©
ENCE = © =
: 8 4 E_E MW
¢ © o
® ad p:Y
. IPE © . MXJ
" @ @ o O £l 2
8
2 NXP
: H MXY
Za) i
¥ MTS
2 x M3 x 0.5 thread depth 6 —A"
G H
Operating port 2 x M3 x 0.5 Section AA”
8 L] |
N "
2 (Table length) * (? —1): The number of pitches
w — ©|
T rY & T
0
J 8 <
z 2.4
zz Max. 9
Note) If long bolts are used, they can
G H touch the guide block and cause
malfunction, etc.
Refer to the Specific Product
& & @ Precautions.
i B
8
R 2
=
P
S O s
=/ ¢ =
4
03H9 (*5°%°) depth 3
(mm)
Model F N G H J M 4 zz
MXF8-10 20 4 13.5 22 21 49 49.5 58
MXF8-20 26 4 145 | 26 26 54 | 545 | 63
MXF8-30 26 6 145 | 40 41 69 | 695 | 78
-Xtd



MXF series

Dimensions: MXF1 2

Stroke adjuster at retraction end

Stroke adjuster at extension end

Width across hexagon socket hole 2.5

i

\Width across flats 7

Blanking plug

205 (3 —-1)x25 (MGP12-08-CA001-R 2 points)
Note) Possible to use as
43H9 (*39%%) depth 3 25 N X M3 x 0.5 thread depth 5.5 operating port 2 x M5 x 0.8
8.5 6.5
MHCE =:8 o= -
© 2 g A7
( )
© 9
o e &% ) —(r S
« ™
8 i 58
I -
o
g
So
— - e ISR
N 3 x x
i <« <«
) 7 A
2x M3 x 0.5 thread depth 6 25 H Nf 5.5 6.5
o 1
A .98 | 4xM4x07
M Section AA”
10 | Operating port 2 x M5 x 0.8
o (Table length) A/i N
< * (E —1): The number of pitches
< e =
- Y Pax G 0 e
@)
0
J 1 0
r4 3
Y44 Max. 10.5
Note) If long bolts are used, they can
25 ) H ) touch the guide block and cause
‘ ‘ malfunction, etc.
Refer to the Specific Product
- -0 Precautions.
— = ©
s
= = = =4
3
g |
g
Bl
>
I
>
< s
o —1
=: & ¢ =
4
03H9 (*0%%°) depth 3 (mm)
Model N H I J M 4 zz
MXF12-20 4 22 11 36 65 65 76
MXF12-30 4 30 12 45 75 75 86
MXF12-50 6 65 13 80 111 | 111 | 122

274




Dimensions: MXF16

Stroke adjuster at retraction end

04H9 (*3°%) depth 4

Low Profile Slide Table IMIXF Series

b/

Stroke adjuster at extension end

Width across hexagon socket hole 3

24

N x M4 x 0.7 thread depth 6.5

Note)

Width across flats 8

Blanking plug

=
>x || <
A=

(MGP12-08-CA001-R 2 points) MXUD

Possible to use as
operating port 2 x M5 x 0.8

= HE

0 4 — éa—ﬁ
& 7
D
MXW
8 & -
<
L 8 g MXJ
g o
o . 13 MXP
=y = =
s S S
© o Y
N/
H {\’,‘ MTS
2x M4 x 0.7 thread depth 10 NN 55 T
5 —1)xH
G g 11.5
<A Section AA”
10 M , Operating port 2 x M5 x 0.8
2 (Table length) N
#( 5 1): The number of pitches
w B!
| 4 = -
® ) [ =B
J
z 3
zz Max. 9
Note) If long bolts are used, they can
G H touch the guide block and cause
malfunction, etc.
$ Refer to the Specific Product
© © Precautions.
<
I I =
e ————— R
I I El
=
& A=
b B
0
&
CI S
=R
04H9 (*3%%) depth 4
(mm)
Model N G H NN | J M z zz
MXF16-30 4 29 25 4 12 50 83 83 94
MXF16-50 6 29 55 4 12 80 113 | 113 | 124
MXF16-75 6 39 45 6 13 125 | 159 | 159 | 170 D-0
-Xtd



MXF series

Dimensions: MXF20

Stroke adjuster at retraction end

i

Stroke adjuster at extension end

Width across hexagon socket hole 4

\ Width across flats 12 Blanking plug

N (MGP12-08-CAQ01-R 2 points)
28 (5 -1)x60 Note) Possible to use as
60 N x M5 x 0.8 thread depth 9.5 operating port 2 x M5 x 0.8
+0.030
4p . 95H9 (0™") depth 5 A o o5
w0l
y el e e 0 :
o«
<]
 &® e = q
=N =N =N
o g o B (©) JR P () M (1) B ) .
S N e Al e -
L £
a @ 3 © © € 3
/5 : N
= g 3
¢ T - 3 x| - x|
| o 2| Z|
!y LT : Z| Z|
T T
@J @) 1
©
2x M5 x 0.8 thread depth 12 H 55 ::" 85
NN - NN x M5x0.8
G (7 —-1)xH 13
R ' Section AA’
12 M ) _
2 (Table length) ‘ Operating port 2 x M5 x 0.8 N
* (E — 1): The number of pitches
g | in \, 8
4 1o
J 12
4 3
Y24 Max. 9.5
G H Note) If long bolts are used, they can
touch the guide block and cause
malfunction, etc.
-©- -©- 0* Refer to the Specific Product
— ! = Precautions.
I ; o
f | - §
B
& 1 -
Pad —
0
2 L
(mm)
05H9 (*3%%) depth 5 Model N G H NN J M Z zz
MXF20-30 4 29 30 4 57 91 91 104
MXF20-50 4 36 45 4 77 113 113 126
MXF20-75 6 40 45 6 125 | 162 | 162 | 175
MXF20-100 6 59 60 6 175 | 211 | 211 | 224

b 276




MXF series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at Stroke End)

# o ©® b Reed Auto Switch: D-A90, D-A93, D-A96, D-A90V, D-A93V, D-A96V _(mm)
B E MXH
Model A Stroke Stroke
= 10 |20 | 30 | 50 | 75 |100| 10 | 20 | 30 | 50 | 75 |100 MXS
_ MXF8 95 10| 5 [10| — | — | — |e5 |os ey — | — | —
T e ® ] | T 11271 MXaCo
L] || MXF12 [ 12 | — [13.113.1]290| — | — | — |0 |86 [Gas] — | —
A e MXF16 [172 | — | — |158|25.8[46.8| — | — | — |135)|31 5 dan| — MXQ
| - 18.7 | 20.7 | 44.2 | 68.7
MXF20 [19.4 | — | — |20.7|22.7]46.2707 | — | — |85 |85 @15 co2
e —— . WXF_
Solid State Auto Switch: D-M9B, D-MON, D-M9P, D-MIBW, D-MINW, D-MOPW, D-MITIA (mm)
B E E (D-M9TIA) MxXw
Model A Stroke Stroke Stroke
il I _| 10 [20 [ 30 | 50 ] 75 [100] 10 | 20 | 30 | 50 | 75 [100] 10 | 20 ] 30 | 50 | 75 |100| |MXJ
MXF8 13.51491477747147772732777MXP
MXF12 16 | — 171171831 — | — | — |7.1|71|281| — | — | — |5.1 |51 211 — | —
B MXF16 212 — | — |19.8]29.8/50.8)| — | — | — | 9.8 (19.8/40.8) — | — | — | 7.8 (17.8(38.8| — MXY
MXF20 234| — | — |24.7|26.7|50.2(74.7| — | — [14.7|16.7|40.2|64.7| — | — [12.7|14.7|38.2|62.7
Solid State Auto Switch: D-M9BV, D-MINV, D-MIPV, D-M9BWV, D-MINWV, D-MOPWV, D-MITIAV (mm)
B E E (D-M9LIAV)
Model A Stroke Stroke Stroke
10 |20 |30 | 50 | 75 |100| 10 (20 | 30 | 50 | 75 {100 10 | 20 | 30 | 50 | 75 |100
MXF8 1835(14 |9 (14| — | — | — 116 |—|—|— 1|4 |—|—|—
MXF12 16 | — (171171331 — | — | — |91 |91 |261| — | — | — |71 |71 (23.1| — | —
MXF16 21.2| — | — |19.8|29.8|508| — | — | — [11.8]21.8|/423| — | — | — | 9.8 {19.8(40.3| —
MXF20 23.4| — | — |24.7|26.7|50.2|74.7| — | — |16.7|18.7|42.2|66.7| — | — |14.7|16.7|40.2|64.7
#(): Denotes the values of D-A93.
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Mounting Operating Range
—————————
. Auto Switch Mounting Tool A0 =
ACautlon +When adjusting the auto switch mounting screw (included Auto switch model pplicablelborelslzelithin)
with auto switch), use a watchmaker’s screwdriver with a 8 12 16 20
handle about 5 to 6 mm in diameter. D-A9C(V) 4.5 5 [ 7
Tightening Torque D-M9I, M9V
D-M9CIW, MWV 3 3 45 5
Tightening Torque of Auto Switch Mounting Screw (N.m) D-M9IA, MOLIAV
Auto switch model Tightening torque = Since the operating range is provided as a guideline including hysteresis, it
D-A91(V) 0.10 to 0.20 cannot be guaranteed (assuming approximately +30% dispersion).
It may vary substantially depending on an ambient environment.
BRI 0.0510 0.15
D-M9CIW(V) ) |
D-M9TIA(V) 0.05t0 0.10
Auto switch mounting screw
with auto switch)
® Watchmaker's
screwdriver
I e =====1
: Other than the models listed in “How to Order”, the following auto switches are applicable. 1 D-O0
} *Normally closed (NC = b contact) solid state auto switches (D-M9LIE(V)) and solid state auto switch D-F8 are also available. 1
1 For details, refer to pages 1136 and 1592-1. 1 _x|:|
L -l




MXF series

Made to Order: Individual Specifications 1

Please contact SMC for detailed dimensions, specifications and lead times.

n PTFE Grease

Simbol

MXF| Standard model no. |— X7

PTFE grease
PTFE grease is used for all parts that grease is applied.

Specifications
[ Type \
| Bore size (mm) |

PTFE grease ‘
8,12, 16,20 |

+ Dimensions other than the above is the same as the standard type.

/A Warning

Precautions

Be aware that smoking cigarettes, etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
hazardous to humans.

Symbol
E Grease for Food Processing Machines

MXF| Standard model no. |— X9

I Grease for food processing

machines
Grease for food processing machines is used for all parts that
grease is applied.

Specifications

Grease for food processing machines (NSF-H1

Type certified)/Aluminum complex soap base grease
Bore size (mm) 8,12,16,20
* Dimensions other than the above is the same as the standard type.

/\ Caution

Do not use this cylinder in a food-related

environment.
<Cannot be mounted> Can be monted
=

Food zone
Cannot be mounted
—
=

Food zone---Food may directly contact with this
cylinder, and is treated as food products.

<Can be mounted>

Splash zone:--Food may directly contact with
this cylinder, but is not treated as food
products.

Non-food zone---This cylinder do not directly
contact food.

g
Symbol
Bl Without Builtin Auto Switch Magnet [JEEEIN

MXF | Standard model no. | — x33

Without built-in auto switch magnet I
Auto switch magnet is not built in.

Specifications

Type Without built-in auto switch magnet
Bore size (mm) 8,12, 16, 20
Auto switch Not mountable

* Dimensions other than the above is the same as the standard type.

278

n Fluororubber Seal

SEmbol
MXF| Standard model no. |— X39
I Fluororubber seal

Change the materials for the piston seal, rod seal and O-rings
to fluororubber.

Specifications

Type Fluororubber seal
Bore size (mm) 8,12, 16, 20
Seal material Fluororubber

* Dimensions other than the above is the same as the standard type.

Symbol
E Anti-corrosive Specifications for Guide Unit

MXF | Standard model no. | — X42

Anti-corrosive specifications
for guide unit

Rail and guide are given anti-corrosive treatment.

Specifications

Type Anti-corrosive guide unit
Bore size (mm) 8,12, 16, 20
Surface tr Special anti-corrosive treatment (2)

#1 Dimensions other than the above is the same as the standard type.
* 2 Special anti-corrosive treatment makes the rail and the guide black.

Symbol
A erom seal

MXF| Standard model no. |— X45

EPDM seal

Change the materials for the piston seal, rod seal and O-rings
to EPDM.

Specifications

Type EPDM seal
Bore size (mm) 8,12, 16, 20
Seal material EPDM
Grease PTFE grease

+ Dimensions other than the above is the same as the standard type.

/A\ Warning

Precautions

Be aware that smoking cigarettes, etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
hazardous to humans.



MXF series

Made to Order: Individual Specifications 2

Please contact SMC for detailed dimensions, specifications and lead times.

Adiusting Bolt, Long Specification (Adjustment range: 15 mm)

MXF | Standard model no. | — X11

Adjusting bolt, long specification
(Adjustment range: 15 mm)

The average adjusting stroke range was extended from 5 mm to 15 mm with a long adjusting bolt.

Dimensions
—
For backward-facing end For forward-facing end
S S
@
ry 7

Max. A

A5
©
(el

1o
Mggfe,
SEmboI

=
=
=]

=
>
=

X

=
=
%)

Max. B
(mm)
Model A B
MXF8 10 19
MXF12 10 20.5
MXF16 10 19
MXF20 10 19.5

279 ®

5|5



